

A Remark on Generalized Repunits

Banyat Sroysang

*Department of Mathematics and Statistics, Faculty of Science and Technology,
Thammasat University, Rangsit Center, Pathumthani 12121 Thailand
E-mail: banyat@mathstat.sci.tu.ac.th*

Abstract

In this paper, we give some congruence for a generalization of generalized repunits with some negative numbers.

Keywords: generalized repunits, congruence

1. Introduction and Preliminaries

In 1966, Beiler [1] introduced the repunit R_n , any integer written in decimal form as a string of 1's, by

$$R_n := \frac{10^n - 1}{9}.$$

In 1982, Snyder [6] introduced the generalized repunits (or repunits to base b) $R_n(b)$, any integer written in decimal form as a string of 1's in base b , by

$$R_n(b) := \frac{b^n - 1}{b - 1}.$$

In 2013, Trojovský [8] introduced a generalization of generalized repunits by

$$J_n(k) := \frac{(k+1)^n - nk - 1}{k^2}.$$

And then

$$J_0(k) = 0,$$

$$J_1(k) = 0,$$

$$J_n(k) = \sum_{i=0}^{n-2} \binom{n}{i} k^{n-2-i}$$

for all $n \geq 2$.

Moreover, the numbers $J_n(k)$ has the recurrence forms as follows.

$$J_{n+1}(k) - (k+1)J_n(k) = n.$$

$$J_{n+2}(k) - (k+2)J_{n+1}(k) + (k+1)J_n(k) = 1.$$

The generating function $j(x)$ for the numbers $J_n(k)$ can be expand by

$$j(x) = \sum_{n=0}^{\infty} \frac{(k+1)^n - nk - 1}{k^2} x^n$$

and then

$$j(x) = \frac{x^2}{(1-x-kx)(1-x)^2}.$$

The numbers $J_n(k)$ has the other formula as follows.

$$\sum_{\substack{n_1, n_2, \dots, n_m \\ n_1 + n_2 + \dots + n_m = n}} J_{n_1}(k) J_{n_2}(k) \dots J_{n_m}(k) = \sum_{i=0}^{n-2m} \binom{2m+i-1}{2m-1} \binom{n-i-m-1}{m-1} (k+1)^{n-2m-i}.$$

In this paper, we give some congruence for a generalization of generalized repunits with some negative numbers.

2. Main Results

Theorem 2.1. Let a, b, l, n be any integers such that a, b and n are positive. Then

$$J_n(al+b) \equiv \begin{cases} \binom{n}{2} \pmod{a} & \text{if } a|b \\ J_n(b) \pmod{a} & \text{if } a \nmid b. \end{cases}$$

Proof. Case $a|b$. Then there exists m such that

$$b = am.$$

Thus,

$$\begin{aligned}
 J_n(al+b) &= J_n(a(l+m)) \\
 &= \frac{(a(l+m)+1)^n - na(l+m) - 1}{(a(l+m))^2} \\
 &= \frac{\sum_{i=2}^n \binom{n}{i} (a(l+m))^i}{(a(l+m))^2} \\
 &= \sum_{i=2}^n \binom{n}{i} (a(l+m))^{i-2} \\
 &= \binom{n}{2} + \sum_{i=3}^n \binom{n}{i} (a(l+m))^{i-2} \\
 &\equiv \binom{n}{2} \pmod{a}.
 \end{aligned}$$

Case $a \nmid b$. We note that $al+b \equiv b \pmod{a}$

$$\begin{aligned}
 J_n(al+b) &= \frac{(al+b+1)^n - n(al+b) - 1}{(al+b)^2} \\
 &\equiv \frac{(b+1)^n - nb - 1}{b^2} \pmod{a}
 \end{aligned}$$

Therefore,

$$J_n(al+b) \equiv \begin{cases} \binom{n}{2} \pmod{a} & \text{if } a \mid b \\ J_n(b) \pmod{a} & \text{if } a \nmid b. \end{cases}$$

Corollary 2.2. [8] Let a, b, l, n be any positive integers. Then

$$J_n(al+b) \equiv \begin{cases} \binom{n}{2} \pmod{a} & \text{if } a \mid b \\ J_n(b) \pmod{a} & \text{if } a \nmid b. \end{cases}$$

Corollary 2.3. Let a, m, n be any integers such that a and n are positive. Then

$$J_n(am) \equiv \binom{n}{2} \pmod{a}$$

Proof. By Theorem 2.1, we use $b = a$ and $l = m - 1$, this is in case $a | b$.

3. References

- [1] A. H. Beiler, 1966, *Recreations in the Theory of Numbers: The Queen of Mathematics Entertains*, New York, Dover.
- [2] H. Dubner, 1993, Generalized repunit primes, *Math. Comput.*, 61, pp.927-930
- [3] H. Dubner, 2002, Repunit R49081 is a probable prime, *Math. Comput.*, 71(238), pp.833-835.
- [4] J. Jaroma, 2007, Factoring Generalized Repunits, *Irish Math.Soc. Bulletin*, 59, pp.29-35.
- [5] D. H. Lehmer, 1929, On the number $n = (10^{23} - 1)/9$, *Bull. Amer. Math. Soc.*, 35(3), pp.349-350.
- [6] W.M. Snyder, 1982, Factoring repunits, *Amer. Math. Monthly*, 89, pp.462-466.
- [7] P. Trojovsky, 2012, On convolution of generalized repunits, *Int. J. Pure Appl. Math.*, 79(3), pp.493-498.
- [8] P. Trojovsky, 2013, On convolution of some type of the numbers connected with generalized repunits, *Int. J. Pure Appl. Math.*, 82(4), pp.615-621.